Id

Question | gy FfYr fazadg &1 agar fifoT|
HErSoT
A G + 350
B HET + 3507
C Al + 3507
D HET + 3507
Answer D
Id 2
Question | zfyay HATH HT HEY SETEIOT FHistaT § 2
A Ao
B GRS
C BLUGOE
S
D [EEEC)
Answer D
Id 3
Question ﬁmﬁ@mamﬁ‘ﬁ‘mwmﬂﬁgmg?
A deollel
B degra
C deR
D faRERR
Answer D




Id 4

Question |qfagr=l ereg &7 TIT HIAIT -
31&T

A sITeh

B car

C kiirc)

D arelt

Answer |C

Id 5

Question Fae orse / udards ase
gy

A 30T

B g

C HPRY

D g@ﬁ'

Answer |C




Id 6

Question | frmfaf@d erg-Ted & W Y-8 & I Hifw -
T feU aTv fasedl A @ ‘G192 T HEl dleqd IIed HIfC-

A GEl T &TAT I dTell

B T W e IR A alell

C fFe I 7 3T IfFd GaRT SST I-™T AT

D forel cafed garT ©IS AT FF F qQU FE arer

Answer |C

Id 7

Question | fTaefof@d 7 & e AEYGY T TG HITIT|

A rafas

B TS

C T

D ETAH

Answer |B

Id 8

Question | fTsfaf@d & & WIF aTad & I HITAT -

A UgeT 3HTH @ @ &

B ag df3d &, fheq 581 B

C 3TN H dIGel IR &l

D

a8 ll-AT hfad &, [ aa HgIcAT Ml &7 A1 & Gor gl

Answer

D




Id
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Question

g8 fohde 9dl JTdr 81 39 a g # Hi-ar areg g ?

A Sgareg

B Copars| E)

C Hraareg

D

Answer |B

Id 10

Question |5y arerr 3 foram AT $derrel H ¢ 2
A 3 JEdR YT

B 38 qEch 93T g
C 3 gEdh ger o
D 38 qEde 9e gl
Answer A




ID 11&12

Question Type Comprehension

Main Text In each of the following questions find out the alternative which will replace
the questions mark
A QU a1 yds uoeT # Q) oA oF A B | A dge JoA &
alt yel 7 U waew faAr I § aUr gE gIH H U UG ofvd o
| B2 ¥ RAredl # A a8 ey IAF ST g J7A & 9g § FAWT
GFewe 1@ & |

Question Ocean: Water : : Glacier : ?
THG @ U TR ?

A Mountain
qad

B Cave
9

C Refrigerator

D Ice
o

Answer D

Question Fruit : Mango : : Mammal : ?
BoT: TH : : FAAIR : 2

A Snake
A

B Sparrow
plires

C Fish




D Cow
I

Answer D

Id 13

Question | A man pointing to a photograph says, “The lady in the photograph is my nephew’s
maternal grandmother.” How is he lady in the photograph related to the man’s sister who
has no other sister?
U IfFd Teh BT fh 3R SART HIA 3T Fgal §U Fgcl & o "T Brey 7 5
Afger & P98 M A 6 a6 § |39 AR F1 39 AfFd 6 Shaldl g8 &
FIAT ey g 2

A Cousin
it

B Sister
ERC]

C Mother
HTAT

D Mother-in-Law
arq

Answer C




Id
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Question | Pointing towards a photograph, a lady tills Pramod, ‘I am the only daughter of this lady
and her son is your maternal uncle.” How is the lady related to Pramod’s father?
Wqﬁﬁﬁaﬂtamaﬂﬁ?wmm@m%%"ﬁsﬂm
fo gehelldl T € T IHHRT IF JFERT HIAT 87| 37 Higell T JaAle & Oar @
AT Y g?

A Sister-in-Law
ey

B Wife
ool

C Anut
Ty

D Mother
HTAT

Answer B

Id 15

Question | Painting towards a bag, Reena said, “He is the son of only son of my grand Father.” How
is that boy related to Reena ?

U TI5h DI R FANT A §O, T Fgell ¢ o "ag R qleT & THAT IF F
9 87| g8 sl Qo1 & fhy yahR geaftrd 82

A Cousin
TR G

B Uncle
Irdr

C Brother
TS

D None of these
ST W IS AT

Answer C




ID 16-17

Question Type Comprehension

Main Text In each of the following questions, four words have been given out of which
three are alike in same manner, while the fourth one is different. Choose out
the different one.
A 16 T gds R H AR reg G I § o @ e i
T T AW g Sdth AT der & e g| e ersg Aa ey

Question Choose the different word from the following.
fAeT & @ feer e gy |

A 37

B 28

C 42

D 56

Answer A

Question Choose the different word from the following.
faeT & @ e e gy |

A 767

B 535

C 484
397

Answer D




ID 18-19

Question Type Comprehension

Main Text In each of the following questions a number series is given with one tern
missing. Choose the correct alternative that will continue the same pattern and
fill in the blank spaces.
A & a1 gcdsh weeT & U Aol & R § fSHH vk ug ofed € |
Y fasedl & @ 3@ @& Ahou & oA S & = Soir &
3TeTEROT HIAT & |

Question 12,24,48,96,192, ......7 .......

A 392

B 198

C 384

D 258

Answer C

Question 567,189,63,21, ... 7 ........

A 12

B 18

C 7

D 9

Answer C




ID 20-21

Question Type Comprehension

Main Text Read the following information carefully and answer the question given below.
Six People C, D, E, F, G, and H are standing in a straight line facing north not
necessarily in the same order. D is second to the right of F. C is standing fourth
to the left of H and H is not standing on the extreme end of the line. E is
standing second right of D.
A & R AEEN FoeAeas afed aur G W weAl & 3W
AfSd | B8 =gf@d C,D,E,F,G duT H 3R fgem &1 31X Hg e Th
TR @A EwE (TR T F 3 FAA) | D, F & e gaw &
| C, H& a0 <lY €UIeT 9T @sT & | dUT H 3@ & fordl off X «
e @eT & | E, D & g gEl ¥ W @ ¢ |

Question Three of following four are alike in a certain way based on their positions in
the above arrangement and so form a group. Which of the following does not
belong to the group?
A G T UR feedl # F A, IW & R FaEdr A U
ol & TURT & AR Uk fARTd dlish & §AET § duT vh THg
Sod 8 | [ & Sl a1 37 @Hg A ST 30T 87

A CG

B GE

C GH

D DE

Answer B

Question In all the people are asked to stand in an alphabetical order from left to right,
the positions of how many will remain unchanged?
gie @l cafeadl 1 a0 @ e aoT ATl & HH & IHTAN dorr
S A fohdey cafeaat &1 €U 3aiafdd | em?

A One

Two




C Three

D Four

Answer A

Id 22

Question | Arrange the words given below in a meaningful sequence.
1. Doctor 2. Patient 3. Diagnosis 4. Bill 5. Treatment
A & I ersel Fr U A1 H cgafyd #Y |
1.3l 2.A70S 3. 4.f9e 5. e

A 2,1, 3, 5, 4.

B 1, 2,3,4,5

C 3,2, 1,5 4

D 4, 1, 3,2, 5

Answer A

Id 23

Question | Arrange the words given below in a meaningful sequence.
1. Deca 2. Kilo 3. Centi 4. Deci 5. Hecto
JT & I ersel @ Uk Ae H ¥aieyd HY |
1.3r 2. fkel 3G 4.3H 5. gerel

A 5, 4,1, 3, 2.

B 3,4, 1,5, 2.

C 2,3, 1,5, 4

D 3,2, 1,5, 4

Answer B




Id
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Question |On which date was the first Monday in July 2007?
Ses 2007 #H ugel WiHAR fohd Tty &1 ar 2
A 1 July
1 9 :
B 2 July
2 fe)
C 3 July
3 9 E
D 5 July
Answer B
Id 25
Question
In a row of students, Mohan is 10th from right. Sohan is 25th from left. When they
change their position then Mohan becomes 22 from right. What is the new position
of Sohan from left?
faeafdat &r v dfda A, AlgeT &I T gAY 3R F 10 a7 g, g T T2ATed
IR A T 25 af &, ST I 3NYAT TATH deold &, df Alged &l TAT giar 3R
J 22 ar g SA1ar &, ar Qg &7 iy 3 @ FJAT TATT Sar3i ?
A 35
B 36
C 37
D 38
Answer C




Id 26

Question | You.............. fly to Dover — there isn’t an airport.

A may

B can

C may not

D cannot

Answer D

Id 27

Question | A teacher can develop listening skills in English by

A speaking to learners continuously both within the classroom and outside

B focussing only on listening skills without associating it with other language skills

C creating opportunities for learners to listen to a variety of sources and people and engage
in listening activities

D making the learners listen to everything they hear passively

Answer C

Id 28

Question | In the following question choose the correctly spelt word.

A Itinarary

B Itenerary

C [tinerary

D Itinarery

Answer C




Id
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Question | In question below has two blanks, each blank indicating that something has been omitted.
Choose set of words for each blank which best fits the meaning of the sentence as a
whole.

Since it does not havethe  to do anything beyond sending out notices; the
corporation has now decided to take steps to attach movable properties such as cars so
that people take the notices more

A Authority, appropriately

B influence, justly

C guts, sincerely

D power, seriously

Answer D

Id 30

Question | Select the most appropriate meaning of the given idiom.

To play ducks and drakes

A to use recklessly

B to act cleverly

C to change places

D to be friendly

Answer A

Id 31

Question | Select the synonym of the given word.

CHRONIC

A common

B persistent

C temporary

D ordinary

Answer B




Id
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Question | In the sentence given below a part is underlined and for that part options are given.
Choose the most suitable option that can replace the underlined part.
The poor villagers had said they did not know how to use the solar powered pump,
because of lack of knowledge right now.

A have been saying

B has said

C has been saying

D No improvement

Answer A

Id 33

Question | Choose the correct alternative of the following sentences.
He said, “ I have passed the test.”

A He said that he passed the test

B He said that he has passed the test

C He said that he has been passed the test

D He said that he had been passed the test

Answer

D




Id
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Question |Rearrange the following five sentence (A) , (B), (C), (D) and (E) in the proper sequence
to form a paragraph; then answer the question given below them.
(A) A small wooden nest box is all it has taken to rekindle all the romance of bringing
sparrows and other birds back into our cities and halt them from fading into the past like a
forgotten folktale.
(B) There is something wrong with a city that remains unperturbed even as its birds desert
it.
(C) Thankfully, the situation is not as hopeless as it seems.
(D) Much as we try to defend the seemingly irreversible modern life of these cities, we
can’t stop our hearts from crying when we realize that our rapidly degenerating urban
eco-system isn’t generous enough to let these delicate winged creatures build tiny little
nests in its nooks and crannies, sit in solitude, and rear offspring.
(E) And this desertion seems to be true with most metros in India where house sparrows
have almost become a thing of the past.
Which of the following should be the FOURTH sentence after rearrangement?

A E

B D

C C

D B

Answer C

Id 35

Question |Read the following passage carefully and give the answer of the questions.
When you buy a car, examine carefully the important features of the model you are
considering. Many a buyer of the latest model has got into trouble by buying a car too
broad or too long for his garage. Further more, a long car is too hard to manage in traffic
and too difficult to park. Another feature is the comfort afforded. Are the seats nice and
durably upholstered? Is there enough glass to give the driver a god view in all directions,
particularly to the rear? It should be remembered that the heavier and the powerful car is,
the more expensive it will be to operate. High powered motors, require expensive high-
octane petrol. The greater weight means greater tyre wear and enlarged brakes. The old
cliche is still true, it is not the initial cost but the upkeep which matters.
While buying a car, one should specially consider its

A price

B maintenance cost

C upholstery

D brakes

Answer B
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Question

Balls of marbles of diameter 1.4 cm are dropped into a cylindrical beaker
containing some water and fully submerged. The diameter of the beaker 1s 7
cm. Find how many marbles have been dropped in it if the water rises by 5.6
cm?

1.4 Q) TG B Sfed H Tah dodadThR S J O fear smar &
S Fo gl a1 & 3R g RE @ g9 1T &1 e Fr

O 79 g1 IS greir 5.6 JHAY d¢ AT g, af 39 fohdel o2k
R arw 87

50

150

250

O Q| w >

350

Answer

B

Id
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Question

The base of a triangle is 15 cm and height is 12 cm. The height of
another triangle of double the area having the base 20 cm is

forelt TY37sT &7 MR 15 Q. TUT 3AS 128, | T 37 e
d ZUg AT A TSGR &8Thel 38 ST & &TheT dT GIET ¢
3R 3R 20 @A gl

9cm

18 cm

8 cm

o O w| >

12.5 cm

Answer

B




Id 38

Question |one fourth of a tank holds 135 litres of water. What part of the tank is full if
it contains 180 litres of water ?

Teh S &l Teh AT HTET 135 oile UTeil 9RUT am gl IfG & &
1806‘haq1?ﬁ3‘ra’ré’a$rmmamm§m%?

A 2/5
B 2/3
C 1/3
D 1/6

Answer |C




Id 39
Question | The following pie-chart shows the study-time of different subject of a
student in a day. Study the pie chart and answer the following questions.If
the student studies 10 hours in a day, then he/she studies mathematic for
fTafofad -9 v AT & T oF & [Affed vy &
ITETTA-GHT Y il &1 IS IIE &7 3eqTT HY 3R Feafaf@a
g2l H 3 G|
Iie 1 T fead H 10 € 37eTTT Rl g, df dg Ioid I I35
T B
LS Mathematics
30%
Physics
20%
eography
hets 10%
D]t C:Lp;_h Hiﬁ.t{}r‘y
15%
A 3 hour
3 el
B 10/3 hour
10/3 ©aT
C 1/3 hour
1/3 gel
D 3/10 hour
3/10 ger
Answer |A




Id 40

Question | (7921 = 178) — 5.5 = V/?
Simplification the following equations shown below

A 1512

B 1521

C 1251

D 1531

Answer |B

Id 41

Question | A boat running upstream takes 8 hours 48 minutes to cover a certain
distance, while it takes 4 hours to cover the same distance running
downstream. What is the ratio between the speed of the boat and speed of the
water current respectively?
T AT URT & Gfddel FO gl T T H 8 0 3R 48 A
FAY oIl § 519 6 95 a8 TAE g URT & Il aF A A 4
g¢ &I AT oIl ¢ df a1d &l arel 3R R e # 9RT T a1l
T 3TTdTcT T §Iam?

A 7:4

B 11:4

C 4:7

D 8:3

Answer |D




Id 42

Question | Simran started a software business by investing Rs. 50,000. After six months,
Nanda joined her with a capital of Rs. 80,000. After 3 years, they earned a
profit of Rs. 24,500. What was Simran's share in the profit ?
f@#ReT 7 50,000 G T 7T AT Teh AIFCAI HT TIA0T UE
farl 6 AL 91 FaT & 80,000 ¥ HT YST FRIH AISGR &
=T Ifg 3 Aol 91 3egied 24,500 FIA AT A1H HART O FEFe
T o A fgEar 2 gemn?

A 12,421

B 9,423

C 11,600

D 10,500

Answer |D




Id 43
Question | The following pie-chart shows the study-time of different subject of a
student in a day. Study the pie chart and answer the following questions.The
time spent to study history and chemistry is 4 hours 30 minutes, Then the
student studies Physics for
fAfaf@a ug-ae v o & & ©F & [Affe Jvy &
ITETT-THT T &20Tar &1 IS o1E T 37eTTT 1 3R Fe=afaf@a
gt & 33X ¢Isfag 3R e fae &1 3w & & fav
AT 4 "¢ 30 A g, a9 o #ifadhr & fav feda a#7y
IETT FAT g7
mtry
RIS Mathematics
30%
Physics
20%
ecography
i 10%
D] OL_:{." I'IiR'E{JI'y
15%
A 1 hour
B 2.9 hour
C 2 hour
D 3 hours
Answer |D




Id 44

Question |28% members of a certain group are married. What is the respective ratio
between the number of married members to the number of unmarried
members?
T fAfRRTd THg & 28% Ty faarfed €| sifaarfed wewat Hr
qCT # farfega deeal & dear & @ Hefd 3He]urd F41 g7

A 7:17

B 5:18

C 7:18

D None of these

Answer |C

Id 45

Question | The area of triangle is half the area of square. The perimeter of the square is
224 cm. What is the area of triangle?
f387sT @1 &1ather gaT @ e § | g9 dr aRfr 224 QA | R
T & A%hel FIT § |

A 1856 cm’
1856 I3 TH

B 1658 cm’
1658 I3 |

C 1558 cm’
1558 g1 @

D None of these

ST H PG AT

Answer

D




Id 46

Question | A bus is running at 80 kmph without any stoppage. But, with stoppages its
average speed is 60 km/hour. Find the time of stoppage by bus per hour.
U g9 91 IS Thrge & 80 frelt ufa ger fr AR & I« T
¢ T &hiae & @Y 60 fhar ufd wer $r AR & =er urelr gl
ar 9fa ger 98 T FHac FHT &I AT F?

A 12 minutes
12 fAece

B 20 minutes
20 Aee

C 30 minutes
30 fAsTe

D 15 minutes
15 fAse

Answer |D

Id 47

Question |Fraction between 2/5 and 4/9 is:
farT & @ 2/5 3R 4/9 & &rg 3ufeyd et gl

A 3/7

B 2/3

C 4/5

D 1/2

Answer |A




Id 48

Question | A person gives 1/4 of his property to his daughter, 1/2 to his sons and 1/5 for
charity. How much has he given away?
Teh cAfFd & 37el FUfT &1 1/4 $6T 39el O @ o=, 1/2 &
39 A AT IR 1/5 AT g He ST 81 AT 38 For Fohckar
T ¢ e

A 1/20

B 19/20

C 1/10

D 9/10

Answer |B

Id 49

Question |If 5432*7 is divisible by 9, then the digit in place of * is :
afg 543247, 9 & oS g, @ * & TUH W 3F gren

A 0

B 1

C 6

D 9

Answer |C

Id 50

Question | 1/5 of a number exceeds 1/7 of the same number by 10. The number is:
fReT @&ar &1 1/5, 38 @1 & 1/79 10 31f¥0® g, a8 & ¢

A 25

B 150

C 175

D 200

Answer |C
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Question | If the standard free energy change for a reaction is 1.546 kJmol~' at 500°C then the

value of standard equilibrium constant for the reaction is
500°C W HTATHAT & T AlTeh HeFd 3o IRAciT 1.546 kJmol ' &,

JfAfhar & v Aes Ao RS &1 &= ger

A Antilog (0.105)
TEMET (0.105)

B Antilog (-0.105)
TEATT (-0.105)

C Antilog (0.24)
TETATT (0.24)

D Antilog (-0.24)
TEATT (-0.24)

Answer |B

Id 52

Question | Atyomic mass of an element having density 8 gem > BCC structure and cell egde of
250 pm will be
8 gem ' Heled , BCC EITAT AT 250 pm el UsT dTel Teh Acd T WAIT] 8K
gIa-

A 37.6 gmol ™"

B 42.8 gmol™

C 15.6u gmol ™'

D 12.2u gmol ™'

Answer A
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Question | A process which is unfavourable with respect to enthalpy but favourable with respect to
entropy
T Afshar, ST Tedredl & ey & gfdgd 8 fhed Tegrdl & T 7 3o ¢-
A Could occur at low temperatures but not at high temperatures
et A WX g T €, T 3T A X A @ weRd §
B Could occur at high temperatures but not at low temperatures
3= A9 W g Fhell 8, o] oot A9 o)X €T 8 Fehell @
C Could not occur regardless of temperatures
dig & ST & ool gfed g 81 dehall
D Could occur at any temperature
Ry o a9 W & T &
Answer B
Id 54
Question | Mass of sulphuric acid presentin  100¢m’ of a decimolar solution will be
Teh SHACR Ao & 1008 & 3ufEud depRe vids & gegdA= grem
A 0.49¢
0.49 911
B 49¢
4991
C 0.98¢g
0.98 a1
D 98 ¢g
9.84IT
Answer C
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Question

A student while reporting data has done the following. Identify the error committed by
him/her.

Teh ©F o 3T Fr RAifésr wta gay PAeafaf@a s fFr 8 389 <R 1
S AT I TEAT |

Specific reaction rate has been taken as constant and has been reported in
1-n yn—1 -1
mol "L" s

TIAY TATHIAT ¥ ) o & &9 & Or arar & aur mol' "L 's™' H gor
fhaT =T g

Rate equation based on law of mass action has been used to determine overall order of
reaction,

IAFFAT & THT FF 1 FURT S & v gega= har & [ag w®
ITUTRA X FHAIRIOT T gAIeT fRar amar g

Fractional order of reaction has been reported

fAfRar &1 3 P g7 Far = g

Rate constants obtained at two different temperatures have been used to determine the
energy barrier of reaction.

FfAfFAT B 397 IRNIT 1 FUROT I B AT @ Fea adt W grea few av
g Feerie! &1 et forar amm g

Answer

Id
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Question

Identify the false statement : Temperature coefficient of a reaction
AT HYA HT Ugdlel i Teh AATRIT & T Ions

A

Having values 2 indicates doubling of reaction rate with 10 degree rise in temperature

I AL 2 gleAT AT H 10 33l &7 geei & ary fafpar & T & g
glel I ST e § |

Is usually calculated at  35°Cand 25°C
T IUTAT FHSIT: T 35°Cand 25°C 9T T ST |

Is influenced by the molecularity of reaction.

HARRAT Fr IMUREAT F TR @ |

Is ratio of rate constants of the same reaction determined at two different temperatures

ar et amat X Ui @ weh & fAfear & e el &1 3 g

Answer

C




Id 57

Question | Which of the following is not based on principles of adsorption?

foesT & @ FlaT a1 EAVOT & Reuidr W ITAIRA 6T 82

A Titration of KBr against AgNO3 using eosin indicator

ST Geehl T 3TN Feh AgNO3 & T KBr &l AT (TGS

B Use of silica gel to maintain dry conditions for sensitive instruments

TdeaAefer U & v e eafaar s=w @er & fore e ster @
ERpIC]

C Separation of components of mixture by virtue of differences in mass.

GeTAA A AT & YR IR AN & 3aTdl HT JUFhIT |

D Separation by partition chromatography of components' of a mixture

Teh TAHOT & 3yl ol TSl HIFACTATH SGRT JUeFhoT

Answer C

Id 58

Question | Lyophobic and lyophillic sols cannot be distinguished on the basis of
formifass aur ferifthferss died or ® YR 9T faafed =8r
forar ST | g

A Formation of dispersion
YA bl IS

B Level of hydration
g3 Fl TR

C Reversibility
SchHAUNIAT

D Viscosity with respect to dispersion medium

TR ATEIH & T H 2TeIdr

Answer A




Id 59

Question |Rate of chemisorption

SR T X

A Decreases with increase of pressure

el #H geill & |y "e Sl ©

B Increases with increase of pressure

e & gell & |y §¢ S §

C Is independent of pressure
ae ¥ T&aT ¢

D Is independent of temperature

a9 ¥ T&dT &

Answer B

Id 60

Question | Heavy water used in nuclear reactors contains

WATY] RUFeN H GgFd HR STl A MRS ger gielr &

A Hydrogen in excited state

3ATAd 3T # gIESgialed

B Tritium

[AE [

C Deuteron

CRRIG]

RN

D Deuterium

SYSRIHA

<A

Answer D

Id 61

Question | The mass percent of H,0, in 30 volume H,0, is

30 FdT H,0, & H,0, & gegdT gfaerd &

A 4.56 %
B 9.11%
C 11.39%
D 13.67%

Answer B
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Question | Which of the following may be treated as polymeric hydride?
fafafaa & O Fa afdRe gssess & &7 & 3gaRa fFar s gar 82
A Magnesium hydride
HeAT# 18358
B Sodium hydride
AIfsTH gE38s
C Titanium hydride
CI3eTITA grsgiss
D Calcium hydride
hicRITH IS5
Answer A
Id 63
Question | Which of the following is not treated as primary standard in the volumetric analysis?
T # O 8 3ade [A9VeT § Wafie AFe & &9 & 3uAdRId dAgl ham
ST B
A Sodium carbonate
AfsTH Fafee
B Potassium dichromate
qrefe sBhiATC
C Sodium thiosulphate
afzTH Ragehe
D Sodium chloride

aifsasd FRSs

Answer

C




Id 64

Question | Which of the following does not represent an alum?

@ &§ @ #i9 a1 tF refrd & uefia 78T aar 2|

KA1(S0,), 12H,0

NH ,Cr(S0,), 12H,0

A
B NH ,A1(S0,), 12H,0
C
D

Al,(80,), 18H,0

Answer D

Id 65

Question | Which of the following statements regarding Boron is not correct?

IR & gau # Arfaf@a syt F & aar g7 96

A Boron compounds act as Lewis acids
dR1T A 58 TS & &9 H S a1 §
B Boron is a good conductor of electricity
SR faegd &1 gares &
C Colemanite is one of the chief minerals of Boron
HIAAASE SR & HET Tidell #§ & Th ¢
D Boron exists in two isotopic forms 10B AND 11B

T & gEEUTAS &9 10B 3R 11IB& T F 9T ST 2

Answer B

Id 66
Question | Impure glycerine is purified by
LS TATUA PV —omommemmomoeee % SERT ee fonar ST g
A Vacuum distillation
foaTa smaasr @age fsfeeae )
B Simple distillation
HUROT 3mads (el f3fecererT )
C Steam distillation
arsg HTEAAESH 3TEcererT )
D Boiling over charcoal

FITel & FUT 3dTelel

Answer A
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Question | The incorrect statement from those given below would be
A Y T azEt F @ AT I2T FiA @ {2
A Carbonyl compounds are attacked by nucleophiles
Fleifelel TlfdTeh G sgerellithed SERT §HeIl TohaT STdT § |
B An aldehyde has a greater partial positive charge on its carbonyl carbon
U 3MTeSgISs H 3 FlEidel  Plee] U SIIET & SIGT TAS ThRIcHD
et g g
C Protonation of a carbonyl compound decreases electrophilic nature and thus, nucleophilic
attack is retarted
shrsitfeler AT 1 WIElAIET S8 goaclifthiceh 0T T A F ol ¢ AR g0
YR wfFelithicleh 3ThAUT €A g ST 2|
D Hydration of CCI;CHO is more than CH,CHO
CCI,CHO T STelalslel (§T8320) & Jofell #  CH,CHO SIel §|
Answer C
Id 68
Question |When CH,CH,Br reacts with sodium acetylide, the main product is
S CH,CH,Br HISTH THIEIASS & Ay Giafhar #ar g, dl #&T 37U
-------- AT g
A 2- butene
2- GZI«@H
B 2- butyne
22T
C 1- butene
1- sg&aT
D 1- butyne
1-sgCTSd

Answer

D
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Question | Liquids that decompose below their normal boiling point can be distilled at lower
temperature by
W @R S 39 @TAT FaUATh (boiling point ) 9T qafed 8Id &, 37 He
I W AR AT ST TR B
A Decreasing the pressure
Gald S A H GRI
B Heating in sand bath
ds 91U # INH F B <RI
C Increasing the pressure
GdaTd dalel & GRI
D Heating in water bath
dreY 91U H IRA A & R
Answer A
Id 70
Question NO, In the atmosphere is due to
1531 =£ 4% B~ V(0 JU—— % $RUT gl g
A Lightning
Agfded (lightning)
B Incomplete combustion of fuel
SUS & 3qUT agel
C Thermal plant
adiy gay
D Radioactive decay
WAt smaer
Answer A
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Question

Who will be the first woman president of the Indian National Science
Academy (INSA)?

il HRAT IS TAATA HFIGHT (ATSTATHV) I ggelr Afgel

31egeT grefe

A Chandrima Shaha
qiGAT 2Mg

B Debjani Ghosh
e ICIlGIN]

C Gita Mittal
M fAder

D Gita Gopinath
Ifrar andrarer

Answer |A

Id 72

Question |Ghotu Ram Meena has been appointed as the next Ambassador of India to
which country?
g TH AT A1 6T ST # 0T & 397 Tolgd & &7 H fAgerd
forar arar g2

A Ghana
HTeIT

B Republic of Congo
N IR

C Nigeria
ATSSITET

D Niger
GIESES

Answer |B
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Question

Who has won a silver medal in the Medved wrestling tournament?

foreent Asds FHech gotde A oI Yesh e g2

A Sakshi Malik
arefr #Afow
B Babita Kumari
EEIGUETIRY
C Vinesh Phogat
faster wieme
D Kavita Devi
Hfdar adt
Answer |C
Id 74
Question |RPF of Indian Railways launched an Operation to identify and verify all
vehicles parked in Railway premises. What is the name of this operation?
IRATH o Todd IRET 7 @z gl argar Hr ggareT 3R gamaaT &
T T 3R & fohaT| 0 TR &1 A1 F47 87
A Bandar
CIeRy
B Shakti
AfF
C Number Plate
e Tl
D UNNATI
JoeAicl
Answer C
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Question

Who has launched the Swachh Survekshan 2020 (SS 2020), the fifth edition
of the annual cleanliness survey?

fraer graa AT TaTodl d&TuT 'TaTs HA&TuT 2020 (THTH 2020)'
hr QB3N H1?

A Arjun Munda
A #T
B Prakash Javadekar
YR STaga
C Dharmendra Pradhan
G T
D Hardeep Singh Puri
ga g 9o
Answer |D
Id 76
Question | Who inaugurated an international conference on teacher education in New
Delhi?
e o 7% fCooll & et RNET W T HRTET FFHlT Hl
3cares fam
A Raj Nath Singh
oAy Tog
B Ramesh Pokhriyal ‘Nishank’
A @RI ‘A2
C Amit Shah
AT ATE
D Nitin Jairam Gadkari
IGIGGRSENC I EC T
Answer |B
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Question

In which city, Gorewada International Zoo is located?

e gX & IIRamET Ry RISIER fud g2

A Kanpur
PTTR

B Nagpur
AR

C Hyderabad
EREICE

D Jaipur
IR

Answer |B

Id 78

Question |Jaitapur nuclear power project is being built in with the partnership of which
country?
SR TRATT] FotT GRS fohdd &2 T FIsle’T & o185 @I
g?

A Russia
&

B Japan
SITqTeT

C Germany
SHAT

D France
I

Answer |D
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Question

Which day was observed as World Humanitarian Day?

fra foaa  faeg AFaaEK Gag & §7 & HAMT I7A7?

A 15 August
15 3HIrEd
B 17 August
17 3191cd
C 20 August
20 3ITEAT
D 19 August
19 3ITEd
Answer |D
Id 80
Question | From which state, Former Prime Minister Manmohan Singh was elected
unopposed to the Rajya Sabha?
fre T & 9d guAAT AdAlgT g A Togasr & fav Ay
ol a1T?
A Uttar Pradesh
ESRECAl)
B Chhattisgarh
SIS
C Madhya Pradesh
TqET Yeor
D Rajasthan
ST EAT e
Answer |D
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Question

In which city, National Conference of Tourism Ministers concluded?

fFa 8T F gded AFAT T TSET GFAT 4o g3m?

A Jaipur
IR

B Kolkata
ehlefehlcll

C Mumbai
IS

D New Delhi
7S e

Answer |D

Id 82

Question | Who has been appointed as the MD and CEO of Idea-Vodafone?
RrEaT FSRAT - ASTHe B TS AT WEM B w9 F e
forar arar @

A Rajiv Kumar
TSflg HAR

B Sarada Kumar Hota
T HAR grer

C Ravinder Takkar
IdeY Tt

D Madhur Deora
AT dasT

Answer |C
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Question

Who has been appointed as the next Cabinet Secretary for a tenure of two
years?

fFgerl g Tl o SIS & [T [T hidae kg & &7 &

fagera foar I g2
A Rajiv Gauba
SyEICEEICH
B Pramod Kumar Misra
gHle FAR AT
C Atanu Chakraborty
37ds] Tshddl
9
D Vijay Keshav Gokhale
fasrT shera el
Answer |A
Id 84
Question |With which country, India has signed six memorandum of understanding in
several areas including geology, defence, arts and culture?
fore 3 & WY AR o A=A, T&T, Foll HR FEPpid @l w5
&l H Bg FASIET AT W AR U §7?
A Guinea
e
B Namibia
ATHTTST
C Gambia
T
D Zambia
SATTESAT
Answer |D
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Question

ISRO will help to which country for the launching of its first spacecraft
"Hope Probe" next year?

SO, fhT Cer & Ugel HARET IeT "8I Ui" & YaIT H Hcg
HLIM?

A UAE
I3

B Saudi Arabia
SETANKIEE ]

C Nepal
SqTel

D Sri Lanka
CIGED

Answer |A

Id 86

Question | Who has launched the book ‘The Diary of Manu Gandhi’ (1943-44)?
fohea g SRR 3T #e] el qedesh (1943-44) &I YHRE fohar?

A Prahlad Singh Patel
yeele, g uee

B Narendra Singh Tomar
Mg &g de

C Thawar Chand Gehlot
YT de Tgelld

D Dharmendra Pradhan
TG T

Answer |A
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Question

Who has been appointed as Defence Secretary in the Ministry of Defence?

foraent & AT A & ARG & T A [gEd fFar g2

A Ajay Kumar
T HAR

B Nripendra Misra
=g fAsm

C Pramod Kumar Misra
yHle FAR AT

D Samant Goel
AT M

Answer |A

Id 88

Question | From which month, FASTags will become mandatory for all vehicles?
wd O TT argAr & folv FASTags 3ffaard g Sreen?

A November 2019
odse¥ 2019

B December 2019
fedsT 2019

C October 2019
3ergeX 2019

D August 2020
3Ed 2020

Answer |B
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Question

Who will be India's new Batting coach?

AR &1 AT dfEIT hIT i gm?

A Vikram Rathour
[EELIRYCIES

B Sanjay Bangar
T TP

C Bharat Arun
HAIT 30T

D R Sridhar
AR AR

Answer |A

Id 90

Question | P V Sindhu became the first Indian to win BWF World Championships gold
medal by beating Nozomi Okuhara of Japan in Basel, Switzerland. She is
from which state?
dr dr T8y FacoRels & e # Sl Hr Al 3HgRT A1
g SIS Uk Tded ATAIATAT &7 T90T U Sfidal arell Igelr
HRAT s&if| 9 | UsT 4§ 87

A Haryana
ghRamom

B Madhya Pradesh
HET Uer

C Telangana
deTaTTeT

D Andhra Pradesh
3TET wer

Answer |C
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Question | Who has been chosen for the ‘Eminent Engineer Award for the Year 2019°?
forgent a¥ 2019 % AT widSsd Selifdiay &R & v o arar
g?

A Prabhakar Singh
BEICTEe

B Ravish Kumar
dIer HAR

C Shah Rukh Khan
AMg2W Wl

D Behrouz Boochani
ool el

Answer |A
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Question

Former Finance Minister Arun Jaitley has passed away recently. He was the
Rajya Sabha MP from which state?

qd faa A7 31501 Sicel FT el & H fausT g ar| ag fra I
I TIHT FiEe A2

A Andhra Pradesh
3T 9cer

B Madhya Pradesh
qET Y

C Uttar Pradesh
3T e

D Gujarat
EI RG]
9

Answer |C
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Question

In which city, A New Statue of Mahatma Gandhi will be inaugurated?
fra ergX A, AgreAr el fr vk A9 gfdaAT F1 3gEed fhar

STTUAT?

A Manchester
e

B Paris
aRe

C Berlin
gferet

D Vienna
[ERGII

Answer |A
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Question

Prime Minister Narendra Modi was honoured with the 'Order of Zayed', It is
the highest civilian honour of which country?

TTAHAT dAdg AT &l 'Y 3T S @ GFATAT AT IR—AT| I8
frg U o1 Tafeg aeRe gFaT 29

A Saudi Arabia
GETANELC]
B UAE
Jeg
C Afghanistan
PN AEATST
D Bahrain
ERC
Answer |B
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Question

Which Bank launched a co-branded credit card in association with Standard
Chartered Bank?

fFa d o T3 IS d% & agdT ¥ Hg-siss Hfsc FS dled

fomam g2
A ICICI Bank
ITSHITSHIING S
B HDFC Bank
TISIUHAET Seh
C SBI
THITS
D Bandhan Bank
T dh
Answer |D
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Question

Feroz Shah Kotla Stadium in Delhi will be renamed as Arun Jaitley Stadium.
It is located in which city?

PAST Mg Hiear TBIH T ATH Feodal 30T Jeo T3 far
STreen| I8 g e # ua 82

A Mumbai
IS
B Delhi
feeelr
C Kolkata
ehTefehlcll
D Dehradun
AEeeT
Answer |B
Id 97
Question | Which country launched the world's first floating nuclear reactor?
forer cer &1 AT T ggem oRdT 37 RAT] Rusex dlea fHam
A Saudi Arabia
R TANCEC]
B Russia
&
C Afghanistan
BN AEATST
D UAE
e
Answer |B
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Question

In Which city, US Open, final Grand Slam of the season, held?
forer e 7 Iud 39, Wl H1 AAH Iz TolA, AT g3 2

A New York
=g gieh

B Chicago
IElCac)

C Los Angeles
g ufsed

D Boston
e

Answer |A
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Question | Who has become the first Asian bowler to grab a five-wicket haul in South
Africa, England, Australia, and West Indies?

aTel Ugel URIITS dgars o 1T g2

A Jasprit Bumrah
STaWT FRIE

B Ishant Sharma
Serd AT

C Mohammed Shami
AgFAC A

D Bhuvneshwar Kumar
AIRAT FAR

Answer |A
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Question

In which country, Prime Minister Narendra Modi released postage stamps on
Mahatma Gandhi to commemorate his 150th birth anniversary?

forg 21 & guTadE g A F HgreAT e 7 150 a7 ST
AT & foIT s/ fehe SR fham?

A Saudi Arabia
GETANELC]
B Russia
*H
C Afghanistan
PN AEATST
D UAE
Ies
Answer |D




	In a row of students, Mohan is 10th from right. Sohan is 25th from left. When they change their position then Mohan becomes 22 from right. What is the new position of Sohan from left?

